m Tel. +39 075.5280260
Fax +39 075.5287033
L/MBRA/LIMORCHI  fx:¥0me8
GANCI TRAINO E RIMORCHI 06132 Perugia
ITALY

www.umbrarimorchi.it
umbrarimorchi@umbrarimorchi.it

ISTRUZIONI DI MONTAGGIO

FITTING INSTRUCTIONS
INSTRUCTIONS DE MONTAGE
MONTAGEANLEITUNG
INSTRUCCIONES DE MONTAJE

DISPOSITIVO DI TRAINO

TIPO
TOWING BRACKET TYPE
DISPOTIF DE REMORQUAGE TYPE 2 1 03 7

ANHAENGEVORRICHTUNG TYP
DISPOSITIVO DE CAREO TIPO

PER AUTOVEICOLI
FOR CARS

POUR AUTOS LAN CIA LYB RA

FUR KRAFTAHRZEUGE
PARA AUTOVEHICULO

TYPE 839 1999 =>
CLASSE E TIPO DI OMOLOGAZIONE CARICO VERTICALE MAX
ATTACCO HOMOLOGATION S VALUE
CLASS AND HITCH TYPE HOMOLOGATION MASSE VERTICALE MAXIMUM
CLASSE ET TYPE DE CROCHET ZULASSUNG ZUL. STUETZLAST
KLASSE UND BEFESTIGUNGSART |APROBACION CARGA MAX. VERTICAL
CLASES DE ACOPLAMIENTO
e3 00 - 0459 _

AS0 - X (DIR. 94/20/CE) S=kg75
VALORE D
D VALUE Max | kg Max | kg
VALEUR D D= X x 0,00081 & 8,8 kN
D WERT - Max | Ka Max | Kg ' = ’
VALOR D = e
COPPIA DI SERRAGGIO PER VITI (8.8): _ B
TORQUE SETTINGS FOR NUTS AND BOLTS (8.8): M6 =10 Nm ME =25 INm
COUPLE DE SERRAGE POUR VIS (8.8): M10 =55 Nm M12=85Nm
SCHRAUBENANZUGSMOMENT (8.8): M14=135Nm  M16 =200 Nm
MOM. DE PRESION PARA TORNILLOS Y TUERCAS
(8.8):

21037
LANGIA LYBRA - v. 1.0 01/01/2011 L/ unsra@morchi P1/6



http://www.umbrarimorchi.it/
mailto:umbrarimorchi@umbrarimorchi.it

SAFETY INSTRUCTIONS

¢ Make sure that the tow bar is suitable for the vehicle before starting the
installation. Verify that the vehicle's towing disposal quoted on the car registration
at the points D.1/ D.2 is mentioned on the tow bar document. Otherwise ask the
proper office for explanation or updated documents.

¢ For safety, all work involving tow bar installation must be undertaken by skilled
technicians.

¢ Damaged components must be replaced with manufacturer’s spares parts by
qualified staff.

¢ It is forbidden to make any modification or structural repair to the tow bar.

USE AND MAINTENANCE

¢ The tow ball must be kept clean and lubricated. For added safety, his diameter (50
mm) must be checked at regular intervals. If the tow ball measures less than 49
mm after selected readings across the diameter, the tow ball must be replaced
with a new one.

¢ After 1000 km of towing, check torque settings for nuts and bolts, in accordance
with the table.

CAUTION

The tow bar installer must fix at the same level with the ball in a clear position, a plate
with the ball's maximum load for the vehicle on which the tow bar is fitted.

21037
LANGIA LYBRA - v. 1.0 01/01/2011 L/ unsra@morchi P.2/6




FITTING INSTRUCTIONS
21037

Remove below the vehicle any mastic from contact points between the chassis and the
tow bar; then paint mastic free pieces with rust inhibitor.

1.

Put up the internal coating and remove the spare wheel inside the boot;

2. Position the plate "A” inside the boot lined up to the rear part and adhere it to the

floor and to the lateral side of the spare wheel housing; Drill with reference to the
points “03 and 04" and insert the screws;

Under the vehicle, remove the emergency shackle from the right stringer. Place
the cross bar “"B” and fix the right side lined up to the stringer referring to the
holes “02"” (where previously the shackle was fixed) and the left side referring to
the holes “03” (previously made);

Position the two counter-plates “"C” and fix them to the before inserted screws
“04";

. Tighten all bolts and nuts as shown in the enclosed layout;

Connect the wiring to the socket, following the car booklet's instructions “use and
maintenance” as shown in the enclosed wiring kit layout;

. Put back the spare wheel in its housing and rearrange the coating.

21037
LANGIA LYBRA - v. 1.0 01/01/2011 L/ unsra@morchi P.3/6




2x

M12x85

CONTACT
12x27x2

21037

2x

M8x30

CONTACT

8x18x1,4

8x24x1,5

2x

M12x35

CONTACT
12x27x%x2

12x36x2

4x

Qo | o | o | o

M8x30

CONTACT
8x18x1,4

P.4/6

l.//?l.lmnmnmoncm

01/01/2011

v. 1.0

21037
- LANCIA LYBRA -

REV.00




sleauowsseq - 3 ageiuowd(] - o4 afeuopy - g agriuoLy - 4

eno| - N4 ageuow(] - A snuuasy - N4 ageuol - A

Buqodely - Na Zununosiq - g9 2uqoiiL - Mq dununoly - g9

oiggeiuows - | ZuuRluowRq - § adeyuowd(] - "IN oigZejuoly - | BuuLluoy - g adeiuol - "IN

W IYDIO WILIBIGUINGD) IYDIOLLLIIqUIN
JPIYDAOWILIEAGLUNT MMM
€E0LBTS G20 6E+ X8}

09708TS L0 6E+71P3

IHOHOWI 2 VHEWS]

7

£00T 2 AOW OWSINVODINW

P.5/6

l.//?l.lmnmnmoncm

01/01/2011

v. 1.0

21037
- LANCIA LYBRA -




Freraum

i
| e 100

E min. 58 rax. 250
¢l o
B § —lT

E
l" L I
|
&

Werkakbene durch dis

Encpankie dei Gespamll dnge
daa Fahrrauges

Boden

et ) i

s 1r_,:,_3.‘ —
Freinas

s Fahi 2010308

min. TS

min.

350 - 4207

L ¥

Werlikalkebens durch die
Erscpunkbs char Sesamilangs

Der Freiraum nach Anhang 7, Abbildung 25a und 25b der
Richilinie ECE-R 55 ist zu gewahrieisten.

Volny prostor ve smyslu Prilofny VII, obr. 25a a 25b smémice
ECE-R 55 musi byt zaruéen.

Det skal sikres, at der er spillerum i overensstemmelse med bilag
7, fig. 25a og 25b i henhold til direktiv ECE-R 55.

Hay que garantizar el espacio libre conforme al anexo 7, fig. 25a
y 25b de la directiva ECE-R 55.

La zone de dégagement, selon annexe 7, figure 25a et 250 de la
directive ECE-R 55, doit étre assurée.

Valyksen tulee tayttaa ohjeen ECE-R 55 liitteen 7 kuvissa 25a ja
25bh iimoitetut vaatimukset.

Make sure to provide clearance according to appendix 7, figures
253 and 25b of the ECE-R 55 regulations.

Mpéme va eEao@ahiferal 0 tAEUBEPOC MIPOC TUPEUIVE PE TO
Tapdptnua 7, oxnua 25a ko 255 TG kovonkng obnyiag ECE-R
55

Biztositani kell az ECE-R 55 iranyelv szernti, 7. szam( flggelék,
25a. és 25b abrakban jeldlt szabad teret.

Deve essers garantito lo spazio hero secondo lallegato VI,
figure 25a e 25b della normativa europea ECE 55 R-01.

Det ma serges for fritt rom i samsvar med fillegg 7, figur 25a og
25b i direktiv ECE-R 55.

De vrije ruimte volgens supplement 7, afbeelding 25a en 25b van
richtlijn ECE-R 55 moet gewaarborgd zijn.

MNalezy zapewnit wolng przestrzen zgodnie z zatgeznikiem 7, rys.
25a i 25h, dyrektywy ECE-R 55,

OCTaBNATL cE0G0JHOE NPOCTPANCTEO COrMacHo MpUnowesmo 7,
puc. 253 1 25b OupekTewl ECE-R 55.

Sperummet enligt bilaga 7, bild 25a och 250 i riktiinje ECE-R 55,
maste garanteras.

* bei Zuldssigem Gesamtgewicht des Fahrzeuges
* pii celkové pripustng hmotnosti vozidla

* yed tilladt totalveegt for keretejet

* con peso total autorizado del vehiculo

* pour poids fotal en charge autorisé du véhicule

* Ajoneuvon suurimmalla sallitulla kokonaispainolla
* at gross vehicle weight rating

* I3 TO ETITRETTO HIKTO BApOC TOU OxAHaToC

* A jamid megengedett Gsszsllya esetén

* per il peso complessivo ammesso del veicolo

* ved kjaretayets fillatte totalvekt

* bij toegestaan totaal gewicht van het voertuig

* przy dopuszczalnym ciezarze catkowitym pojazdu
* Mp# JONYCTHMOM 00ULEM B2Ce 3BTOMODUNA

* vid fordonets tillatna totalvikt

21037
- LANCIA LYBRA -

v. 1.0

01/01/2011 L4 unmera@morcH P.6/6




LRIIMBRARlMORcm

GANCI TRAINO E RIMORCHI

ahkupplungen.de



https://ahkupplungen.de/
https://ahkupplungen.de/anhaengerkupplungen/

	TYPE



